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QUESTION 1

Which three mechanisms are associated with the bridging process? (Choose three.) 

A. blocking 

B. flooding 

C. aging 

D. filtering 

E. listening 

Correct Answer: BCD 

 

QUESTION 2

Which two statements are correct regarding the root bridge election process when using STP? (Choose two.) 

A. A lower system MAC address is preferred. 

B. A higher bridge priority is preferred. 

C. A lower bridge priority is preferred. 

D. A higher system MAC address is preferred. 

Correct Answer: AC 

 

QUESTION 3

You configured a GRE tunnel that traverses a path using default MTU settings. You want to ensure that packets are not
dropped of fragmented. 

In this scenario, what is the maximum packet size that would traverse the GRE tunnel? 

A. 1500 

B. 1400 

C. 1524 

D. 1476 

Correct Answer: D 

 

QUESTION 4
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Which two port security features use the DHCP snooping database for additional port security? (Choose two.) 

A. dynamic ARP inspection 

B. MACsec 

C. IP Source Guard 

D. MAC learning 

Correct Answer: AC 

 

QUESTION 5

Which two statements describe NSR? (Choose two.) 

A. NSR requires GRES to function properly. 

B. NSR provides routing loop protection. 

C. NSR rapidly detects link failures. 

D. NSR provides high availability with multiple Routing Engines. 

Correct Answer: AD 
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